Math 098 Worksheet Worksheet 6.2A_SimplyfyingRadicalExpressionsUsingRadicalNotation_v01
NO BOOK/ NO NOTES/YES CALCUATOR
Fall 2017 Dressler

Name

8) -~/324
Evaluate the square root.
1) A/49
1
9)\/m
2) -A/49
144
: 10) 4[>
SN
11) 4/0.0081
49
Hal5T
12) (\[5.7)2
5) 2/0.0036
13) -A[625
6) (W/5.9)2
14) -[16
7) 9
15) A/0.0049
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Simplify the radical. 4
Ll 3 24) - /81
16) NJ27
4
3 25) - A[16
17) A/512
4
3 26) /625
18) A[-343
4
27) A[16
3
19) A/-8
4
28) A/-16
3[1
20)4/2—16
4
29) A/-256
3[1
21) N
30) -«5/—3125
3’ 1
2) 3|~ 576
5
31) -x[-32
3’ 1
23) N>
3
32) A[-27

2 of 11



4
33) A/-625

34) A[-64

35) i/%

4
36) A/-81

3
37) AJ125

4

38) - /1296
39) -X[-243

40) -2@

3ofll

41) A/-729

42) -X[~1024

43) -2[1024

44) - «4/625

3
45) A[-216

46) -2[3125

47y -2[243

48) A/-512

3
49) A/-125



Simplify the square root. 59) A [w18

50) A[462

60) \| w20
51)/(=21)2 e

61) A/ (x - 3)2
52) AJ(-83)2

62) A (x + 8)2
53) A/ (-43)2

63) A/ (x - 8)2

54)A[r2

55) /52

65) A/ (4x - 7)2

56) \Jm2

66) /X2 + 8x + 16
57) Alk2

67)A\Ix2 + 16x + 64
58) A2

4 of 11



68) \[36x2 + 84x + 49 77)AJ49x2 - 42 + 9

69) A/(7x - 5)2 78) Al 16x2 - 72x + 81

70) /X2 + 12x + 36 79) \J16x2 + 56x + 49

71) AIx2 - 18x + 81 80) A/4x2 - 20x + 25

72)A/25x2 - 30x + 9 81) A/ (7x - 6)2

Hint: Perfect Square Trinomial

82) A/x2 + 10x + 25
73)A/64x2 — 48x + 9

83) AIx2 + 14x + 49
74) A/81x2 - 90x + 25

84) A/ 25x2 - 70x + 49
75) /X2 + 18 + 81

85) A/49x2 + 70x + 25
76) N2 - 6x + 9
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Use the product rule to simplify the expression. Assume 4
that the variables can be any real number. 95) A/2592
86) A/150

96) A[x20

87) A[98
97)Ax16
88) - ~[294
98) A/x24
89) - /63
5 99) A/x38
90) /81
100) A/343x2
3
91) A/648
101) A/486x2
3
92) a/-125
102) A/384x2
3
93) A/-1000
103) \/45x|2y
4
94) /3750

6 of 11



N12x2 3
104) N12|x|2y 113) N/-216x4y5

105) A/128K7 8 3
114) A/-27x4y5

106) A/300k7 q8 A
115) 4/162x6y10

3

107) A[125k15 4
116) A/243x6y10

108) 4[125k12 4
117) A/32x6y10

5
109) A/x40 4
118) /80x6y10

5
110) A/x45 4
119) ~/48x6y10

3
111) A/-8a8b5 4
120) /768x6y10

3
112) A/-64a8b5 4
121) AJ1280x6y10
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8
122) AJ(x - 2)8

123) «4/( x - 2)4

124) A/ (x - 3)10

125) A (x + 5)12

126) A/ (x - 6)2

127) Al (x + 2)2

128) A/ (7x6 - 3y4)2

129) A (11x8 + 7y4)2

130) AJz2 + 10z + 25

Hint: Perfect Square Trinomial
See Worksheet 4.5A

8 of11

131)\J22 + 47 + 4

132) '\/Z2 -4z +4

133) A/ 72 - 14z + 49

134) A[z2 - 122 + 36

135) '\/22 -2z+1

8
136) A/ (x + y)5

3
137) A (x + )2

7
138) ’\/(x +y)4

5
139) ’\/ (x + y)2



Use the quotient rule to divide and simplify. 169

140) 125 1481121
49
149) <[4
8
141) o [—
)25
150) %
32
142) . [°=
)29
[ 54
151) 2=
NG
13
143) , [—=
)25
180
152)
NB
144) , |21
49
/80
153) M=
NEB
145) , |24
9
A[18
154) M=
2
146) , |1 V2
81
155) ﬁo
147) , |44
529
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156)

&fE

157)

zi]

3
158)1i§§

-

159) 32x

%Iw

-

54x

160)

%IQJ

.

161) 448x

%TJ

9
162) 175x

21
163) 4/112x

1080x7

€8]

164)

13
165) 3/250x

(o)}

166)

&
LIS
=[%

il 8

56
167) A56x0y0

\2|yl4

3[-81x4
3x

168)

o
169)?/ 6§ix



3| -256x4

17
0) 4x

173)

x4
312

Q1

176)

Q1
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4]625x4

177)
y12

5

178y 5| 1024x
320

3
«[ 4
181) 128x

3

2x—2
3[s2
182) 4 [—
) 8
5
183) 5(3125x
y20



Answer Key
Testname: WORKSHEET6.2A_SIMPLYFYINGRADICALEXPRESSIONSUSINGRADICALNOTATION

1)7

2) -7
1

3) =

7
4) —
)5
5) 0.06
6) 5.9
7) 3
8) -18
1
945

12
10) —
) 25

11) 0.09
12) 5.7
13) -25
14) -4
15) 0.07
16) 3
17) 8
18) -7
19) -2

1
20) —
)6
1
21) =
)5
1
22) - —
)6

1
2) -

24) -3

25) -2

26) 5

27) 2

28) not a real number
29) not a real number
30) 5

312

32) -3

33) not a real number
34) -4

1

35) —

) 2
36) not a real number

37)5

38) -6
39) 3
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Answer Key
Testname: WORKSHEET6.2A_SIMPLYFYINGRADICALEXPRESSIONSUSINGRADICALNOTATION

40) -2
41) -9
42) 4
43) -4
44) -5
45) -6
46) -5

47) -3
48) -8
49) -5

50) 46
51) 21

52) 83

53) 43

54) Irl

55) Isl

56) Im |
57) Ikl

58) Iql

59) w9l
60) wl0]
61) Ix -3l
62) Ix+ 8l
63) Ix - 8l
64) 18x - 51
65) 14x - 71
66) Ix + 4|
67) Ix + 8l
68) 16x + 71
69) |7x - 51
70) Ix + 61
71) Ix -9l
72) 15x - 3|
73) 18x - 3
74) 19x - 51
75) Ix+ 91
76) Ix - 3|
77) 17x - 31
78) 14x - 91
79) 14x + 71
80) 12x - 51
81) 17x - 61
82) Ix + 5l
83) Ix+ 7|
84) I5x - 71
85) 17x + 51

86) 5+/6
87) 742
88) -7A/6
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Answer Key
Testname: WORKSHEET6.2A_SIMPLYFYINGRADICALEXPRESSIONSUSINGRADICALNOTATION

89) -3+7
90) 33/5
91) 62/5

92) -5
93) -10

94) 5%/6

95) 6%/5

96) x10

97) x8

98) x12

99) x19
100) 7|x|\/7
101) 9|x|n/6
102) 8|x]nf6
103) 3xa[5y
104) 2xA[3y
105) 8k3g4 A/2k
106) 10k3q% A/3k
107) 5k°
108) 5k4
109) x8
110) x9

111) - 2a2b m
112) - 4a2b m
113) —6xy3/x_y2

114) —3xy3/x_y2

15) 3[x| y2[2x2y2
116) 3|x| y2A[3x2y2
117) 2] 22252
118) 21| y2 /5252
119) 2/x] y2[3x2y2
120) 4]x] y2[3x2y2
121) 4fx] y2A/5:252

122) |x - 2|
123) |x - 2
124) (x - 3)2
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Answer Key
Testname: WORKSHEET6.2A_SIMPLYFYINGRADICALEXPRESSIONSUSINGRADICALNOTATION

125) (x + 5)0
126) | x- 6 |
127) | X+ 2 |
128) 17x6 - 3y4|
129) 111x8 + 7y4|
130) Iz + 51

131) Iz + 21

132) Iz - 21

133) Iz - 71

134) Iz -6l

135) Iz - 11

136) (x + y)2/8
137) (x + y)2/3
138) (x + y)4/7
139) (x + y)2/5

140) 5—“7/5
141) 2—“5/5
142) 4—“7/5

TR
144) @
145 34

T

12
23
13
11
149) 2

1

150) —
)4

151) 3
152) 6
153) 4
154) 3
155) 5

156) 3/1_5
157) 3/?

158)

147)

148)

d‘-“
—_
o
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Answer Key
Testname: WORKSHEET6.2A_SIMPLYFYINGRADICALEXPRESSIONSUSINGRADICALNOTATION

159)23/%
160)3§j§

161)43j§
162) 5x4
163) 2x5
164) 6x2
165) 5x4
166) 3x2ya[7x
167) 2x2ya[7x
168) -3x
169) -5x
170) -4x
171)453-

5y2
172)if£-
4y2

4
173) x=
6y2

6 2
174) =2~

LT'
=
(O8]

175)

[6)]
< W
RS

176)

5

177) X

y3
178)f%%

y
179) -4x2
180) -5x2
181) -4x2

J2
182)

NSE
2

183) X
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